Calcula y expresa el resultado en metros

13 km+Ddhm+ Tdam
2Tm+4dem +3mm

325.56 dam + 526.9dm
453600mm + 9830 em
51.83hm + 9.7Tdam + 3700cm

60 km+3hm+4m

74dhm 4+ 8dam +2m 4+ 5Hdm
g2dam+3m +8dm+ Tem
9 35 dm + 480 em + 2600 mm



Soluciones:

Calcula y expresa el resultado en metros

13Ekm+ 5hm+ Tdam

dam-+ohm+Tdam =3 -1000m +5-100m +7-10m
= 3000m +500m + 70m
=35T0m

oTm+4dem + 3mm

Tm+dem+3mm=Tm+4:100m+3:1000m
=Tm-+0.04m + 0.003m
=T7.043m

325.56 dam + 526.9dm

25.56dam + 526.9dm = 25.56-10m +526.9: 10m
= 250.6m + 52.69m
= 308.29m

4 93600mm + 9830em

23600mm + 9830 em = 53600 : 1000m + 9830 : 100m
=03.6m +98.3m
=151.9m

51.83hm 4+ 9.Tdam + 3700cm



1.83hm +9.7dam + 3700em = 1.83- 100m + 9.7 - 10m
+ 3700 : 100m
=183m+9Tm+3Tm
=31Tm

g0 km+3hm+4m

Dkm4+3hm+4dm=5-1000m <+ 3 -100m -+ 4m
= 5000m + 300m 4+ 4m
= 5304 m

74dhm+8dam +2m+5dm

Ahm4+8dam+2m4+ddm=4-100m<4+5-10m
+2m4+5:10m
=400m+80m4+2m+0.5m
= 482.5m

g2dam +3m +8dm+ Tem

2dam +3m+8dm+ Tem =2 -10m+3m
+8:10m+7:100m
=20m+3m+08m+0.07m
=23.8Tm

932 dm + 480 em + 2600 mm

35dm + 480 em + 2600mm = 35 : 10m + 480 : 100m
+ 2600 : 1000m
=3.0m+48m+2.6m
= 10.9m



